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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

The Indian census operation was a 6.  Match the items given in List-I with
de facto or a synchronous census till items in List-II given below :
which of the following year ? List-I List-iI
(A) 1911 B) 1921 .
(C) 1931 (D) 1941 (@ LT (i) Census of
Marten India, 1921
Whipple’s index is to measure (b) Kingsley  (ii) Population
(A) Digit preference Davis (l;f lilpdla and
(B) Age at marriage  Pakistan
(C) Preference for sons (c) Malthus (iii) An Essay on
(D) Fertility preference Principles of
Population
Assertion (A) : In 20™ Century the (d) Gyanchand (iv) Population in
world saw the biggest increase Perspective
in its population in human Code :
history. @ b © @
Reason (R) : No substantial decline (A) (iv) Gii) () (i)
was observed in the decline of B) (i) Gv) (i) @)
fertility ~during the 20" S
Centur};/ s ©) (}u) (?) (l) (}V)
(A) Both (A) and (R) are true and (R) O) @ G G @)
is the correct explanation of (A). 7. Match the following demographic

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

indicators with their sources.

(C) (A)is true, but (R) is false. | pdieator g‘;‘r‘;’;l‘zs

(D) (A) s false, but (R) is true. population Registration
th System

Arrange  four most  populous grow

countries among the following in Il Infant 2. Census

descending order : Mortality Rate

(A) China, India, Indonesia, U.S.A
(B) Indonesia, China, U.S.A., India
(C) China, India, U.S.A., Indonesia

III. Contraceptive 3. Sample
Prevalence rate Surveys
IV. Couple 4. Family

(D) India, China, U.S.A., Indonesia protection rate Planning
Programme

As per the latest Sample Registration Service
Report (Oct. 2009), which one Statistics
among the fqllowing code category 5. Civil
1st1n ?descendmg order for crude birth Registration
rates
() Kerala (i) Tamil Nadu Codes - System
(iii) West Bengal (iv) Maharashtra I I m Iv
Code :
(A) (0, (i), (i), (iv) @ 3 5 14
(B) (i), (i), (iv), (i) B 5 4 3
(C) (i), (1), (i1), (iv) < 2 1 3 4
D) (iv), (iii), (), (ii) ® 5 4 3 2

Paper-I1 D-15-11
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guferd T 3T Ted % ¥ W

SO T 2 3T B T DT
(A) 1911 (B) 1921 il -
(C) 1931 (D) 1941 @ SE @ e -
2. feguer srepufoTeT @ Amar ST & STRTOTET, 1921
(A) AT 31k (b) fFat (i) wRd 3T
(B) foame & wma 31y iEE) BliEzs s |
(C) Wi & T srtemm STEE
(D) USTA SARME (c) wouHq (ili) SHE=@m %
3.  Afumu (A) : ST Id § OEER A 5l T TH
T ShEw ¥ e & EER
Haied gig P 3@ T | (d) IEEE (iv) e SEEEn
a%(R%ézoﬁWﬁ%ﬂﬁmﬁ FT:
AN R @ by (© @
(A) (A) 3T (R) 3 T E T (A) A) Gv)  Gi) Q) (i)
1 (R) el TR € | B) (i) Gv) Gi) ()
(B) (A) 3 (R) I Tl &, T (A) © iy i) @) (v)
T (R) e TR T € | ®) () G) Gi) ()

feiad STHEIETS Hehdehl & S5

4. fTrefefed e # Souew ST % e § et ey
YR T K@ T R w5 H § bl &
3T T TIT HINT [ SHEEr 1. JYA GoNeor
(A) I, YRE, IUSHmET, SR FrEET LA
(B) SUSHIYMET, =, SR, YR II. 9 gegee 2. SFoFT
(C) =M, 9Ra, T, ZUSHRET 1. FReept sl 3. HYel gt
(D) 9RE, 9, STHT, ZUSHRET ToeAT 5T

5. : S ] R , IV.?FHW 4. trﬁanﬁ;ﬁ;q
2009) & IER =fead T=Ar PTEIsh
TN ST (CBR) & 3MUR T WS mi‘@ai{
Fe T FERIET HH | W ; 5. Tqferet dsirezor
(i) (i) aferTg fawen
(i) ufeadr S (iv) TERTE HT:
Fe: I o0 1 IV
(A) (), (i), (iii), (iv) A 3 5 1 4
(B) (i), (iii), (iv), () B) 1 5 4 3
(C) (i), (), (i), (iv) C 2 1 3 4
(D) (iv), (iii), (@), (i) D) 5 4 3 2
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10.

Denominator for an indicator “Rate”
is either (a) Mid year population, or
(b) Person — years lived in a year.
Answer the following questions :

(A) (a) is better than (b)

(B) (b) is better than (a)

(C) Both are equally good

(D) Both are not good enough

Assertion (A) : In order to compare
crude birth rate in two
populations, we compute birth
rates standardized for age.

Reason (R) : This process excludes
differences in age distribution
of two populations

(A) (A) is correct, (R) is correct
and explains the (A).

(B) A s correct, (R) is incorrect and
is incorrect explanation of (R).

(C) (A)isincorrect, but (R) is correct.

(D) Both (A) and (R) are incorrect.

Match items given in List — I with
List —1II.

List -1 List — II
I. Age specific (a) \1?3&/ 1000
death rate 34% 15
II. Child woman (b) TFRx
ratio S S
1+sex ratio at brith
III. Gross sPo
reproduction © 35V 5 x 1000
rate
IV. General nD,
fertility rate ~ (d) P, 1000
nd,
(e) nm,,
Codes :

I II n Iv
A @ (© O (@
B) © (© (@ (b
G @ © O (@
D @ b (@ (©

Paper-11

11.

12.

13.

Assertion (A) : Infant mortality is
measured by indicator Infant
Mortality Rate (IMR).

Reason (R) : Because numerator of
IMR is a subset of denominator.

(A) (A) is correct, (R) is correct and
is correct explanation of (A).

(B) (A) is correct, (R) is not
correct and 1is not correct
explanation of (A).

(C©) (A)isincorrect, (R) is correct.

(D) (A)isincorrect, (R) is incorrect.

Assertion (A) : “Incidence rate” and
“Prevalence rate” are different.

Reason (R) : Because denominators
of these rates are different.

(A) (A) is correct and (R) is correct
and is correct explanation of (A).

B) (A) is correct and (R) is
incorrect and is not correct
explanation of (A).

(C) (A)isincorrect, (R) is correct.

(D) (A)isincorrect, (R) is incorrect.

Arrange fertility indicators according
to their refinement to measure
fertility.

(i) CBR

(i) TFR

(iii)) GFR

(iv) Age Specific Marital Fertility
Rate (ASMFR)

(A) (1), (i), (i), (iv)
B) (@), (i), (i), (iv)
©) (@), (i), (v), (iii)
D) (@), (v), (i), (ii)
D-15-11



8. UF Hhds ‘T & feruw
(a) T IU H R e
(b) TUH Y H AT
MR ¢ | FEfaiEd ueeE # S
Sl
(A) (b) ¥ (a) TEWE |
(B) (a) ¥ (b) TEWE |
(C) IMETAAEY I T & |
(D) ST qETEr 3T TR € |

9,  ATUHUT (A) : T SIS T 3TN
ST ol T o [T & 37
MYR W YFHIFT A h
AT A E |

T (R) : 39 ufkar | g SHg@Eet &
faoRor & o1y & =R # B
TS e |

(A) (A) T g, (R) T & 3T T8 (A)
1 FEl TR & |

(B) (A)WEI €, (R)Tod ¢ 3 (R)
el T Tol ¢ |

(C) (A) 7o &, W= (R) W& € |

(D) (A) 3R (R) I ToAd & |

10. -1 FE-11 § T BT

elt-1 -1
L R () —— 1000
TI 3415
. Tt (0) TFR X et s
1. Fehet - 5Po
() x 1000
PEECEY 35W,s
IV. 9H= nD,.
s () p X 1000
nd,
R
( )nmx

I n a1
A @ (@ b @
B) & (© (@ (b
G @ @© O @
D) @ ® ¢ (©
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11.

12.

13.

e (A) : B g & dehas
forg] gegeT (3 WA W) | A
SEre |

% (R) : i 3¢ TH AR Hl
Tk (numerator) BIEE
(denominator) T “HIGS’ ¥ |

(A) (A) T T, (R) el & 3R TE (A)
T T TR T |

(B) (A)WEI g, (R) TAd & 3R (A) H
el TR TR ¢ |

(C) (A) 7o &, T (R) &l & |

(D) (A) T &, (R) T € |

ATUFHT (A) : 3T X (AT )
3R Weed X (Uaeid ) =T € |

% (R) : Fifh 3 T F A1wemar =
g

(A) (A) T & 3 (R) W& ¢ IR T8
(A) T & T T |

(B) (A) W & 3R (R) Toid ¢ 3 78
(A) T Tt TR T & |

(C) (A) T &, W (R) Tel & |

(D) (A) T &, (R) T € |

TS B9 H 3ehedl o @ 3TER W
FEAGEd IS Hohdel Bl ShHEg

() H W
(i) & T AR
(iii) ST T W
(iv) g fabme dafes womA S
(T TH TH Th 3R)
A) (@), (i), (iii), (iv)
B) (@), (i), (i), (iv)
©) (@), (i), (iv), (iii)
D) (@), (iv), (i), (i)
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14.

15.

16.

17.

Which one of the following
combinations are the proximate
determinants of length of
reproductive span ?

(A) Marriage (and marital
disruption) and onset of
permanent sterility.

(B) Marriage (and marital

disruption), onset of permanent
sterility and  post-partum
infecundability.

(C) Marriage (and marital
disruption), onset of permanent

sterility, post-partum
infecundability and  natural
fecundability

(D) Marriage (and marital

disruption), onset of permanent
sterility, post —  partum
infecundability and use and
effectiveness of contraception.

The major Indian States having the
highest percentage of severely
anaemic adolescent girls
(10-19 years) according to NFHS — 3,
2005 — 06, in their descending order

(A) Assam, Gujarat, Haryana, Punjab
(B) Punjab, Haryana, Assam, Gujarat
(C) Haryana, Assam, Gujarat, Punjab
(D) Gujarat, Punjab, Assam, Haryana

In the post — transitional stage of

Demographic transition among the

following categories which one is

correct ?

(A) Birth and Death Rates are low.

(B) High Birth and low Death rates.

(C) Birth and Death Rates are
stationary.

(D) None of the above category is
correct.

Assertion (A) : In India fertility has
been found higher in Rural
areas as compared with the
urban areas.

Reason (R) : The couple protection
rate in urban areas is higher as
compared with the rural areas.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-11

18.

19.

20.

21.

The major States which experienced
decline in sex ratio (Females per
1000 males) during 1991-2001, in
their descending order

(A) Punjab, Haryana, Maharashtra,

Gujarat

(B) Mabharashtra, Punjab, Haryana,
Gujarat

(C) Gujarat, Maharashtra, Punjab,
Haryana

(D) Haryana, Punjab, Gujarat,
Maharashtra

Assertion (A) : Proportion of urban
population is increasing in India.

Reason (R) Push factors are
forcing rural people to migrate
to the urban areas.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Arrange  the  following  Union
Territories / State of India in
descending order for density of

population as per 2001 Census of India.
(D Delhi

(Il) Chandigarh

(III) Puduchery

(IV) Tamil Nadu

A) (@D, dD, (1), av)

B) D), dID, (AV), (I)

(C) D, AV), (), dI)
D) AV), (), (1), (1)

Assertion (A) Proportion  of
unmarried females is
increasing in India.

Reason (R) : Status of female and
female autonomy is improving
in India.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

D-15-11



14.

15.

16.

17.

frefafed el & ¥ ®F 91 g5 w
Efy H T H GHR [URE
(proximate determinants) & ?

(A) foemE (3R Safesw Stam & aTem)

T URET

(B) faare (3T denfesh e § =),
T SERAT W OURW, Ugf
SUd SHHSIHA]

(C) Toame (3T Seiess S § =),
TR SR, IS
STAAT 3T MThTcish FSTell

(D) faare (X Jenfess e § =),
T SFERAT H IR, Ugia-
S TISTT 3R M- FRieeht
T TENT UE THE

IR & WIE 91 S T UF U9 Ug-
3, 2005-06 % STER TR w7 ¥
ST W (10-19 a9 @) R
TEIHAT W TUHaT UTaRTAdT & 3TER
W 3YEIEr HY H ST

(A) 3TTH, TR, SRATOM, GSTrel

(B) USTE, ERAM, 3TH, ToRI

(C) ERamm, 315m, ToR, sTe

(D) TSI, TSI, STEH, gRaTon
SR ThAUT & GSHHU-SWI
I (stage) i Fr=fetad v o 9
H W T T 9

(A) S ARG T A E |

(B) S RIAT ARG IAT |
(C) S Ud gg W& € |

(D) ST § § B TR |

ATUHAT (A) ¢ YR | TS -
i 3TURT ATHIOT &7 H S arn
™Y |

% (R) : UTHIOT &7 T STUeT TR-&T
o i T & MUF & |

(A) (A) 3T (R) IHT & & 3 (A)
T (R) Tt TILEEHT & |

(B) (A) 3R (R) T W &, WY (A)
%1 (R) W&t TR0 & € |

(C) (A) T ¢, W (R) Tod & |

(D) (A) 7o &, ] (R) T&l & |
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18.

19.

20.

21.

ffefad & 4 =9 ¥ = ¢ =
1991-2001 % SR fTeh 3T (1000
wid o % U ferE) o e e ¥
AR FAMER Wel IW W FaId
FIT

(A) USTE, ERATN, FERTE, ToRA
(B) TERT, ST, ERATOM, TR
(C) TSN, TERT, IS, gRaTom
(D) ERATOT, USTE, TR, TeRTE

AfHeE (A) ¢ IRT H TR SHEE
T AT TE W E |

a& (R) : T AN B IR BRE
(Push factor) TE-USSTH % T
T I EE |

(A) (A) 3R (R) 3T el & 3T (A)
T (R) W&t TILEHT & |

(B) (A) 3R (R) T W&l €, W (A)
%1 (R) Wl TR0 & € |

(C) (A) g, W= (R) Tod ¢ |

(D) (A) T §, W (R) Tel & |

IR & FAfafad o= / TEg &6 a6
IRAF SFITOAT — 2001 % AR 3%
SEET & BT % SER W 3feRiEl
Wﬁ%ﬂ':

(D) feoedt (1) dere
(D) gk (IV) aferTg
(A) (D), dD, (1), (IV)

(B) (1D, (III), (IV), (I)

(C) I, dv), (0, D
D) AV), (), (1), (1)

AU (A) : IRA H Afgented fem
T AT TE W E |

% (R) : 9Ra ¥ forat o feafa o =i
EA GRS @I E |

(A) (A) 3T (R) IHT T & 3T (A)
T (R) Tt TILEEHT & |

(B) (A) 3R (R) 3 Wel &, T (A)
%1 (R) W&l TR0 & € |

(C) (A) T, W™ (R) T & |

(D) (A) T &, W (R) W& |
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22,

23.

24.

25.

Match the items given in List-I
with the States given in List-II.

List-I List-1I
(Items) (States)
Highest 1. Kerala
percentage of
urban
population  to
total
Eopulatlon. )
II. Lowest child 2. Assam
(0O — 4 years)
sex ratio _
III. Lowest female 3. Bihar
mean age at
effective
marriage
IV. Highest 4. Haryana
maternal
mortality ratio
5. Tamil Nadu
Codes :
I 1 ar  Iv
(A) 5 4 3 2
B) 1 4 2 3
©) 4 2 3 5
D) 1 3 2 4

According to Census of India, 2001
mental disability is reported the most in
(A) Kerala

(B) Maharashtra

(C) Karnataka

(D) Uttar Pradesh

Perinatal mortality refers to

(A) Late foetal deaths after 28
weeks of pregnancy.

(B) Late foetal deaths and infant
deaths below 7 days of age.

(C) Infant deaths below 7 dags of age.

(D) Infant deaths from 8" day to
below 28 days of age.

Assertion (A) : The expectation of
life at birth is increasing in
India.

Reason (R) : The health situation is
improving in India.

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-11

26.

Match the answers to the following
questions through life table functions.

Questions Life table
functions
I. Number of 1. 5Lx
person -
years lived in
the age group
xtox+35
Il Probability K+5s
of death ™ Ix
between age
x and x+5

II1. Probability
of  survival
between age

xand x + 5
IV.Expectation of Ty
. 4, ——
life at age x Iy
5 Tx +5
. lx
Codes :
I II I 1v
(A 1 2 3 5
B) 1 3 4 5
<) 4 2 3 1
D) 1 3 2 4
27. Which of the following major States

28.

of India has recorded as the most
urbanized State ?

(A) Mabharashtra
(B) Tamil Nadu

(©) Gujarat

(D) Andhra Pradesh

The term T3() in life table means

(A) Total number of persons lived
after age 30

(B) Total number of person-years
lived after age 30

(C) Total number of persons lived
before age 30

(D) Total number of person-years
lived before age 30

D-15-11



22,

23.

24.

25.

gE-l ® Te H gE-ll # TR 9
o ST 3R USd F ¥ T IHW
N TIT HIfST
-1 =11
(W) (T3)
I %Wﬁmﬁﬂlw
SHEE W gdred
PIGNGG
II. 3TCUaH 3G (0-4 ay) 2. 379d
éh‘ Jodl B AT

IH.EI‘HF:?[ fgae % wE 3. R
AT S AT 31
IV. SeIc| 119 og 3ua - 4. gfeamon

~
oy
N
S A

R & SUET 2001 & AR, ARG

% fha T ° gEfgE sEradr qed

31fereh TATE TE T 2

(A) e

(C) THAeH

WiFeeT Jog aieaTT &

(A) Y & 28 TR % UvEd
et gor &1

(B) Ut yor gog 3R 7 59 &6t 31y
9 oIget @t 9

(C) 7 Te=t &F 31g & A & s=ai H

qq

(D) oed ¥ 28 fadi # g o
ferggatt =i geg

afyrmeT (A) @ YR ° S % ORI
%wﬁmaﬁw&rﬁq%&'gﬁﬁ

|

% (R) : RA H @ & 397 § U
BT o

(A) (A)aﬁr(R)ﬁuﬁ%aﬁr(A)
T (R) Tel TR € |

(B) (A)aﬂUR)aﬁm%%m(A)
T (R) Fel TEHT 61 € |

(C) (A) T, W (R) TAT & |

(D) (A) T §, W] (R) Tel & |

(B) WERTE
(D) S URY

D-15-11

26.

27.

28.

STa= WO et (e o HaeTH)
FRT TAteiad ool Ta ST i GHferd
HIT

u St |IRUT Bie™
L mgagExd | L,

x+59 T
T SAfeRT-at
(TE-3379)
1 e
II. 3T x 3T Iy +5
x+5%Fdm % Iy
T &t
TTeAT
11, 3T x 31X [
x+5%am 3 1_( lxj
T @A A
YT
IV. x 3 T Ty
Rl T B
N
Tx+5
5. T
E T
I O m IV
A) 1 2 3 5
B) 1 3 4 5
C) 4 2 3 1
D) 1 32 4
IRA % H=fefad v@ T | 9 59
T BT ATHTT TTRIHT 3T € 2
(A) WERTZ (B) dHeTg
(C) TR (D) STYRe
UK T, 1 G TRUN o ST 379 &
(A) 30 T H Mg & g S
ST Pt [T
(B) 30 99 &l 3 & a1 T AfeRd-
ot T o T
(C) 30 a9 ¥ Ug Sifad Fet At
i e
(D) 30 9 ¥ g T =fm-ant &t
ot FTet
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29.

30.

Which one of the following
characteristics is true of the process
of urbanisation in India ?
(A) Urban hierarchy is
increasingly lopsided.

getting

(B) Saptial shift of population
leading to formation of
conurbations.

(C) Increase in growth rate of

population in small towns.
Growth rate of service sector
has been declining creating
imbalance in economic
composition of urban work
force.

D)

Match the themes given in List-1 with
the propounders given in List-II.
List-1 List-1I
(Themes)
As the per capita 1.
income grows, the
number of high
parity children for
the representative
family falls.
I. A couple’s 2.
decision to have an
additional child
depends on the
balance  of its
preferences, the
constraints of its
income and the
costs of child
The probability of 3.
adopting the birth
control is higher
when the degree of
motivation is
greater and the
costs of fertility
regulation are
lower
A person with a 4.
small family will
rise faster in the
social scale

Becker

Easterlin

111 Kingsley

Davis

IV. Lieben-

stein

5. Dumont
Codes :

o I
(A)
(B)
©
(D)

NU‘IP—‘-&H

—_ N =

B W =
<

[V, I SN US I )
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31.

32.

33.

Which of the following are the
voluntary checks on population
growth according to Malthus ?

(A) Moral Restraint and Vice.

(B) Moral Restraint and Misery.
(C) Vice and Misery.
(D) Moral Restraint, Vice and Misery

According to Lee’s theory, factors
affecting migration are

(I)  Factors associated with area of
origin.

(I)  Factors associated with area of
destination.

(IIT) Intervening obstacles

av)

Find the correct combination of answer
according to the codes.

(A) (I), (I) and (III)

(B) I), (III) and (IV)
(©) (@, dI) and (V)

(D) (@, dI), (II) and (IV)

Personal factors

Match the following item in List-I
with item in List-1II :

List-I List-1I
(a) Law of (i) Harris and
Gravitation Ullman
(b) Multiple nuclei (ii) Burgess
model of urban E.W.
structure
(c¢) Rank-size Rule (iii)) W.]J.
Reilly
(d) Concentric (iv) Stewart
zone model of C.T.
urban structure
Codes :
(@ ((b) © @
(A) @Gy Gv) @ (i)
B @© @ @) @Gv)
© Gy ®» av) (@)
(D) Gv) @) G) @)
D-15-11



freferfaa <efol § 9§ o |1 9YRd &
TTRIEHIOT UTshal 9T Hel Sedar € 2

(A) TRUSHHH 3ifys® rdfeta &
wWE |

SEET T AR o e
SUTRI Gfed TRI T FEr &
SA@E |

B FHE H 9T | ghyg T
T TS T |

JaT &7 B ghg I Hedl T €
Nad TRE 5| T H G °
3MfEreh ST U1 X ¢ |

-1 | fea 7o fowg @t o) G-Il &
TRt ¥ gaferd it
T -1 = 11
(faw=) (faaa=sm)
[ <9 & ufq Sa o dgdr 1. 9]
2, Wt Ier § 3=
G = o T e
A E |
1. Sfq ol SAfdier s ol 2. SEer
S W % U SEE
AT H T N T W
3T et 5 WA |
LT o & o & 3. et
T ST @Ml 99 39 Sfad
T S8R = B eiR
Wi fafme & =g e
Ul
[V.BIC URaR ol & 4. AReTe
IO S@en H oot 9

29.

(B)

©

D)

30.

S ST |
5. ghie
H
I 0 S 1) R \YA
(A 4 1 2 5
(B) 1 4 3 2
< 5 2 4 3
D) 2 1 5 4
D-15-11
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31.

32.

33.

feAfeEd § ¥ Hoad & AR SHaE
I 1 Ueeh e i T & 2

(A) AT Faq 3R urg

(B) s Fam 3% gaem

(C) U 3R gEem

(D) HAfce Fam, urd, gEm

@ & fogra & FER, WS H
TIfed S oTet 12 €

() T &9 ¥ gafud 92

() T &F | S[S °9eh

(II) BEaed =aem

(IV) T=tt "es

FE H AR IW & Tl [ H qIT
H
(A)
(B)
©)
(D)

(D), (IT) 3T (110)

(ID), (I1I) 3R (IV)
(D), (II) 3 (IV)

(D), (ID), (IIT) 3R (IV)

gt — 1 BT B gEr — 11 & w81 "
gAfera FIT
et -1 et - 10
(a) TETERTOT (i) =mwE
s I
(b) TR TEAT H (i) T
FE-ThoTs Hise T3,
(c) ¥ - R a9 (iil) =g, .
T
(d) TR = H (iv) TEe
Hisd S A {2,
YA

[N

(@ (b)) (©
Ay @@ aGv) @
B) @© @) @) @Gv)
©) @G @ av) G
D) Gv) @) G @
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34.

3S.

36.

The cities/towns having registered
decline in growth rate during
1991-2001 are

L Class I towns

II.  Class II towns

III. Class III and IV towns

IV. Class V and VI towns

Which one of the following
combinations is the correct one ?

(A) TandII

(B) Mand I

(C) MMandIV

(D) II, IIand IV

Match the items given in List-I with
the States given in List-1I :
List-I
(Items)

I. Highest
exponential
growth rate of
urban
population (%)

II. Highest growth 2. Haryana
rate in class-I

List-I1
(Major States)
1. Chhattisgarh

cities
III. Lowest wurban 3. Kerala
rural  growth
differential
IV. Highest 4. Maharashtra
workfprcge
participation
rate
5. Tamil Nadu
Codes :
1 II m 1v
(A) 3 1 2 4
B) 2 1 3 5
< 5 3 2 4
D) 2 3 1 5

Among the following which is not
the millennium development goal ?

(A) Eradication of extreme poverty
and hunger

(B) Promote gender equality

(C) Ensure agricultural
sustainability

(D) Combat HIV/AIDS, malaria

and other diseases

Paper-11
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37.

38.

39.

Assertion (A) : Location of basic
and heavy industries in forest
and mineral rich tribal regions
has created ‘islands’ of high
level of economic development
surrounded by vast areas of
under development.

Reason (R) : Tribal people are
unable to take advantage of
these activities because of low

level of socio — economic
development.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A).
(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Match the following :

Human States
Development

Index
(a) 47 (i) Maharashtra
by 71 (i) Kerala
(c) 66 (iii) Bihar
(d 353 (iv) Rajasthan
Codes :
(@ () () (@

(A) @) (@) @ 34v)
B) @) @) @@ 3Av)
© @ @G G @(Qv)
D) Gv) @) (@ (>

Which one of the following is true of
subsistence economy ?

(A) Consumer expenditure is
diversified.

(B) High level of environmental
awareness.

(C) Adoption of modern methods
of farming.

(D) Low level of literacy and skill.

D-15-11



34.

3S.

36.

1991-2001 & IR & 7RI / Hi §
FE T A FHEE T

L =i

I o [

[ = [0 3R IV & &=
IV. @V 3R VIF &=
frfefEd & 9 i a1 e W@ &2
(A) 13RIl

(B) 13RI

(C) IR IV

(D) I III 3T IV

Tt — [ % O&1 B galt — I1 6 781 9
gAferd HIT
e -1 = - 11
(W) (@ =)
[ TRESEETH . ST
ELCIIED)
(TFATHIRTI)
IaaH FeaT (%)
I o7 I % ¥R ¥ 2. &=
Hared g
[II. f=aq ) oreior 3, el
fordise
IV. S=aaq FATA 4. HERT
TEWTHTAT ST
5. AHeETg

&<

e
p—
e

o I

<

(A)
(B)
©
(D)

D NN W

2
3
2
1

W W = =
N B~ A

FAfaiad § 9 & 41 fHoem foem

AT T E 2

(A) 3d FEa Te s 1 3o

(B) AR HHMCT I ST

(C) M Fe=iardr i FehiAr SHMT

(D) TH 3E S/ USH, HollA U 31
T ST AT SHEAT

D-15-11
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37.

38.

39.

ATUHU (A) @ TeTd TS TR ST
T T Gl H 9gE S
ge o fefq 3 enfaes fowE &
Tq SToeid I & f§F &
W forehfad &= @ B gu € |

& (R) : To-31taes fam & =

TR B W T Tiataradr ¥ A

o g E

(A) 3 (R) IHT TE&r & 3 (R)

el TR |

(A) 3T (R) IHT Wl €, TR (A)

%1 (R) W&l TR0 & € |

(A) T ¢, =] (R) TTo1d & |

(A) ToAd &, = (R) el & |

(A)
(B)

©
(D)

fefetEd = gaferd Sifse
e fasm T
ECEa]

(a) 47 (i) TN
(b) 71 (i) A

(c) 66 (iii) R

(d 53 (iv) ToTRIA
YA

[N

(@ (b (©
(A) (@) G (@)
B) @Gi) G (@)
© O G (O
D) Gv) G (@)

(d)
(iv)
(iv)
(iv)
(ii)

ate sreiegeren & O ¥ =feiad §
YT T HIE 2

(A) SUHIEHRT T AN BT § |
(B) STIRIT TATERONT SIFReehT |
(C) FUwE @ YFEH  TaEr

AT |
(D) 71 T eRar 991 v |
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40.

41.

42.

43.

44.

45.

Prenatal Diagnostic  Techniques
(PNDT) Act is passed in India in the
year
(A)
©

1992
1998

1994
2003

(B)
(D)

The major States having the highest
physical and sexual violence against
women age 15-49 according to
NFHS - 3, 2005-06, in descending
order are

(A) Rajasthan, Bihar, Assam, West
Bengal

(B) Bihar, Rajasthan, West Bengal,
Assam

(C) Assam, Rajasthan, Bihar, West
Bengal

(D) Rajasthan, Assam, West

Bengal, Bihar

The ‘Physical Quality of Life Index’

proposed by Morris and Acalipin

does not consider which one among

the following indicators for its

composition ?

(A) Infant Mortality Rate

(B) Life expectation at age one

(C) Female Work Participation
Rate

(D) Basic Literacy

The long term objective of the
National Population Policy (NPP)
2000 is to achieve stable population
by which of the following year ?

(A) 2025 (B) 2035

(C) 2040 (D) 2045

Goal to be achieved for institutional
deliveries by 2012, according to
Population Policy 2000 is

A 60% B) 70%
€ 80% D) 90%
National Rural Health Mission

(NRHM) is initiated mainly for
(A) Rural women

(B) Rural children

(C) Rural poor

(D) None of the above

46.

47.

48.

49.

50.

Paper-11
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Arrange the following sequentially.
(i) Target free FP program in
India.
(i1)) International Conference on
Population & Development
(ICPD)
Millennium
Goals (MDGs)
(iv) National Rural Health Mission.
Codes :

(ii1)

Development

A @ (i) (i) (v)
B) ) @ >y ()
© ) @) @H ()
D) © (i) ()  (@v)

Population Growth Rates in India
started showing decline in the
following decades :

(A) 196171
(B) 1971-381
(C) 1981 -91
(D) 1991 — 2001

Sequence the following events :
(a) National Population Policy
(b) National Health Policy

(c) Reproductive and Child Health
Programme

(d) National Rural Health Mission
A @ O © @
B) @ (@ (®b @
© @© @ @® @
D) © ® @ @

The State which has the highest
forest degraded area in India.

(A) Uttar Pradesh
(B) Orissa

(C) Madhya Pradesh
(D) Karnataka

Source of estimate of infant

mortality rate is

(A) Census of India

(B) Sample Registration System
(C) National Sample Survey

(D) Central Statistical Organization

D-15-11



40.

41.

42.

43.

44.

45.

IRA | JHaYUT M Thiteh (9 T
2t ) stufay fohg o | WA g1 2
(A) 1992 (B) 1994

(C) 1998 (D) 2003

15-49 a9 H AEeTS & T HF T
IRINE qar @ifits &/ & R ™
NFHS - 3, 2005-06 % 3TER
frfefaa o=t = Ear W & SR
| FERIT BT

(A) T, foRR, ST, ufvay et
(B) TR, TSI, uivad set, S7ramg
(C) 3mam, TSeM, foem, ufvay et
(D) ISTEM, 39, Uivaw S, e

ARG T THAGT  GRT Rite
T ° efeiad o 9 g Sgaes &t
AT el & 2
(A) forg g
(B) U% a9 H A & WHA SAad

TR
(C) WfgeATeT & HH HH Hl 7T
(D) TS FERT

UL SHEEAT AT (TF 9t 1) 2000 HT
SEITeTeh 3899 =TerEad ¥ 9 fohg oy
T fer SaEEn & A g s
g7

(A) 2025
(C) 2040

SHEE Aifd 2000 % SFTIR G
TG o feT /T oo & T 2012 %
T fepat ST € 92

(A) 60 % (B) 70 %

©) 80% D) 90 %

LT AHT @ eE (T 3R U
TH) H TS ha% o aReT T
T E 9

(A) T Terat & o

(B) WTHIUT Sredl o ferw

(C) I (91 & o

(D) SWied ¥ ¥ foht % fow &

(B) 2035
(D) 2045

46.

47.

48.

49.

50.

fAfefEd i HHMER et ST ;
(i) YRG A o8F g IRER FEse
EapEa

(i) TEEIAA HEG A
TS SIATHES (3T T °F )
(iii) TeifEe Taede e (TH 2
R
(iv) T UTEOT W e
FT :
A) @O () 3Gi) o (@Gv)
B) () @@ G ((v)
(C) @i Gi) G Gv)
D) @ Gi) () Gv)
et 5 9 9 39 5 gavey
SHEET gig X H 1 fSEens uer ?
(A) 1961 -71
(B) 1971 -8l
(C) 1981-91
(D) 1991 —2001
fTaRad i HHER SFared i

(a) g SAwE Hifd

(b) T TR Hild

(c) TSI U TOTe] T sy
(d) T U W e
A @ @® © @
B) @ (@© ® @
© © @ b @
D © O @ @

39 9 B 949w e aRa |
afueha o= =i (fetige) &9 & |
(A) IR (B) SERm
(C) H&T U_TT (D) FHAREH

919 JegeR % 3FTAMT 1 E

(A) YRA I STRTUAT

(B) AT USTERROT Uz

(C) vFeT IUA | REEF AT
FaleToT)

(D) FET TirETH TS

D-15-11
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